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SOCIAL MEDICINE AND COMMUNITY HEALTH
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  Kupu Swamy classification B based on the following except :
(A) Education (B) Occupation
(C) Income (D) Type of house

2. Best Epidemiological tool for Investigation of Hepatitis B is :
(A) HBs Ag (B) gamma globulin

(C) HBs Ab (D) serum creatinine

3. Chandler’s Index is for :

(A) Round Worm Infestation (B) Pin Worm Infestation
(C) Hook Worm Infestation (D) Tape Worm Infestation
4. A person wants to visit a malaria endemic area of low level chloroquine resistant

falciparum malaria. The best chemo prophylaxis is :

(A) Proguanil (B) Mefloquine

(C) Quinine (D) Pyrimethamine
5.  Post Exposure prophylaxis is useful in :

(A) Pertusis (B) Typhoid

(C) Chickenpox (D) HIV/AIDS

J—8108 2
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A : T TS | e (50) 9g-fahedia ue ¥ 1 Ue U % & (2) 3ok &1 el el o I
T

1. Y T 1 iR st frefated § 9 e W enenia @ 2
(A) T (B) HEEM

(C) @ (D) R &l JhR

2. SUEREfem ot %t Wi % fau gatam wier wF @ g ?
(A) TEHTETS (B) eI TaISfer
(C) TSl TH Tt (D) HH fshufefm

3. fr=fafed § ¥ Sveer oow forg & fow §72
(A) e ard shgeH (B) T o shwevE
(C) T ard ThaeyH (D) <9 A THRHRH

4. HE A T TR ufad & § ST =Rl § STel hledi™ 7ol §, 9 39 f=fataas 8 9
HITE! a1 e = e ?

(A) RIS (B) HdteR
(C) Fa (D) drHferE

5. I 9YEr o gy fEfefed § 9 serd feg A0 H drveEes § 2
(A) W o™ (B) TEHEE
(©C) fasTur (D) TS/ TeH
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10.

11.

Vegetable fat differs from animal oil in being :
(A) Solid in consistency

(B) Contains more fat soluble vitamins
(C) Contains less fat soluble vitamins

(

D) Contains more amount of Vitamin E and K

The Biochemical oxygen demand indicates :
(A) Inorganic matter (B) Organic matter

(C) Chemical waste (D) Biological waste

The percentage of sample is included in 1.95 SD is :
(A) 68% (B) 95% (©) 98% (D) 99%

If sample size is bigger in random sampling it :
(A) Decreases standard error (B) Increases standard error

(C) Increases standard deviation (D) Decreases standard deviation

The grass root level workers are :

(A) Health Assistant male and Health Assistant female
(B) Anganwadi workers; Traditional Birth attendents
(C) Multipurpose Worker Male, Auxiliary Nurse midwife
(D) Medical Social Workers

Following statement is true about DPT Vaccine :
A) It should be given intradermally

B) First dose should be given before 6 weeks
C) It should be stored in deep freezer

D) Half used vial should not be put back into the cold chain after the session



6. IEfa T U] dot 9 fRe YR @ e §2

(A) e

(B) foeE § werefiet faerfam samer faemm & ¥

(C) TooE & o goreia faerfi faemm wa €

(D) foeifE g R & =it A S1fee Tt T

7.  SE-ShiHehel SRS I HIT ST ol ©
INBESERHE (B) & ugred
(C) i sTaferse (D) S erufyre

8. A ot yfderd 1.95 TH.El. H wfhe ® ¢
(A) 68% (B) 95% (C) 98% (D) 99%

9. Afc T I STHR AgFoseh T H ol 2l :
(A) Wrss T ¥l 7 (B) Wrss WY Tl ¥
(C) Wued faweH g 2| (D) Wued foee T 2|

10. U TR % HH T
(A) e Hereh (YY), T TRk (Higd)
(B) STTHaTE! i, T
(C) e w4l (Te¥), TTA TH
(D) Hfewa wmISTH HHl

11. 3 JoE & ey § frefatad § @ s weF 9@ 72
(A) 39 = =T e ST =nfea |
(B) WH 2k 6 TR % qdl e s =nfeu
(C) 34 MY WSk | VR fohan s =nfew
(D) 3Rl T3 & qv=Td Y T ok arett witelt ol firs § &1 T S =feu |
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12.

13.

14.

15.

16.

17.

18.

Organic disorder in mental diseases is :
(A) Conduct disorder (B) Depression
(C) Dementia (D) Bipolar disorder

Under Indian Factory Act the number of working hours prescribed per week should
not exceed :

(A) 48 hours (B) 60 hours
(C) 72 hours (D) 76 hours

Under Five Clinic concept was brought forth by :
(A) Shakir (B) Nelson
(C) Ilingworth (D) David Morley

Integrated Child Development scheme (ICDS) was started by Government of India
by :

(A) Ministry of Health (B) Ministry of Social and Women’s welfare

(C) Ministry of Education (D) Ministry of Science and Technology

The dead body of HIV/AIDS patient should be transported in :
(A) Yellow cover (B) Blue cover

(C) Red cover (D) Black cover

Sulabha International Institute of Health and Hygiene recommended the colour coding
for microbiological waste :

(A) Blue bag (B) Green bag
(©) Yellow bag (D) Red bag

Incubation period helps in determining the :
(A) Period of infectivity (B) Period of communicability

(C) Period of quarantine (D) Period of isolation

J—8108 6



12. HEREE W H AT HE ST € :
(A) S FEeH H ST (B) famre
(C) Tum fafama (D) fgyea sraqer

13. YR HREM AfTIH & 3T=<wia i T8 e o fohdw =0 9 de1 @l =y ?
(A) 48 =0 (B) 60 =0
(C) 729w (D) 76 ®we

14. 99 99 9 HH 7Y & Acihi o (o foaafer i stauron fr=fataa § 9 forg 7 u&ga &1 ?
(A) Rz (B) TEd
(C) sfdmad (D) <fae Al

15. Uehichd a1t TIehrd WhiH (7. WLE1LTH.) YR TRHR & fhd HAE R TR i 76 ?
(A) TEEH HAAT (B) HHIfSTR Td Afga el HAe™

(C) foen wormera (D) a9 T UrEnfireht w3t

16. TSR /TSH o WM o6 T W I T 11 1 TR0 g1 i ?
(A) i STeRY (B) el 3TrERul

(C) el TRl (D) <hIell STTERT

17. GAY SETTIAA SRISIE St S0 TUS BEsiA - Y&H Sifaeh! STarTe & fog M 9 1 Hfem
CIRE DI ICT

(A) e Sen (B) &1 el
(C) e dem (D) @ el

18. SoATEA erafy fruio # Heme Bt €
(A) HHHUC i Y (B) HRUCHSRAT hi FeIfel
(C) ETY =t afy (D) 3TeTTE i ety
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19. In the primary prevention of Ischaemic Heart Diseases LDL (Low Density Lipoprotein)
should be less than :

A) 160/100 ml to 200/100 ml
B) 170/100 ml to 250/100 ml

~—"

(
(
(C©) 150/100 ml to 175/100 ml
(D) 130/100 ml to 140/100 ml
20. Virulence of a disease is indicated by :
(A) Incidence Rate (B) Case fatality Rate
(C) Prevalence Rate (D) Disability Rate

21. The objective of National Population Policy 2000 is that the country should achieve
replacement level of fertility by :

(A) 2010 (B) 2012 (C) 2015 (D) 2020

22. The incidence of carcinoma cervix in women with multiple sex partner is five times the
incidence seen in those with a single partner. The attributable risk is :

(A) 50% (B) 60% (C) 70% (D) 80%

23. The vaccine contraindicated in pregnancy is :
(A) Hepatitis B vaccine (B) Typhoid
(C) Cholera (D) Rabies

24. A community survey shows Crude Birth rate 23 and Crude death rate 6. The
demographic stage of population is :

(A) Early Expanding Stage (B) High Stationary Stage
(C) Low Stationary Stage (D) Late Expanding Stage

25. If there is only one sex chromosome -x- instead of normal xx, it is known as :
(A) Down’s syndrome (B) Klinefelter’s syndrome

(C) Turners syndrome (D) Super female syndrome

J—8108 8



19.

20.

21.

22.

23.

24.

25.

& U1 Zed W &% WA 5=1d o T e €L.ud. fohas ¥ &1 21 =nfen ?
A) 160/100 Tt & 200/100 fh.f.
B) 170/100 fa=f. & 250/100 fa.<f.
C) 1507100 faft. & 175/100 fa<f.

(
(
(
(D) 1307100 faeft. & 140/100 T

T h <ol T TR Tehd AT ¢
(A) 3T (B) T H T ATl shl &
(C) Tued (D) ST

T SAEEA Hfd 2000 1 A& 7 foF 39 511 <0 | U5 a1 H IRed %1 TR &e 9% 96
fohan SQ ?
(A) 2010 (B) 2012 (C) 2015 (D) 2020

TR o T 1 hEX 37 TGl 1 Ui TOn AT Bt § TSR A weery T 9 stfues sfa
Y AT T T HROT g ST i Gfasrad :

(A) 50% (B) 60% (C) 70% (D) 80%
g SrehT Tyfereen § yidfee ©

(A) TURrEeH ot Rl (JR) (B) TEEES

(C) T (D) &g

T S HA&Iu S9ian © foh oTafieha = <X 23 3R Tafishad Jog S 6 T 1 TG ol 5
MW%

(A) YR JER & (B) I feR TR
(C) T fer = (D) g TR (T Tafen w)

IS T o T 1 ST T & A9 Shiag T 81 ol S T hal STl © 2
(A) TEAY faem (B) fortheetw fagm
Q) =™ fagm (D) HX fraa fagm

J—8108 9 P.T.O.



26.

27.

28.

29.

30.

Question number 26-33 :  Consists of two paired statements, one labelled
Assertion (A) and the other labelled the Reason (R). You have to examine the two
statements carefully and decide if the Assertion (A) and Reason (R) are individually
true and whether the Reason is a correct explanation of the Assertion. Select your
answers using the code given below and mark your answer accordingly.

Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : Male to female transmission of HIV / AIDS is twice as likely as in female
to male transmission.

Reason (R) : Larger surface area of female is exposed during sexual intercourse.

Assertion (A) : Dal water is a good weaning food for Infants.

Reason (R) : Infants are not able to digest whole pulses due to poorly developed
digestive system.

Assertion (A) : Mass media is an effective way of communication for masses.

Reason (R) : It is a one-way communication.

Assertion (A) : Rubella is a mild and self limiting illness with teratogenic potential.

Reason (R) : In absence of immunization, many women of child bearing age remain
susceptible to rubella.

Assertion (A) : Tube wells are successful as a source of drinking water in many parts
of India.

Reason (R) : The yield is normally very high and does not depend upon direct
rainfall in the immediate vicinity.

J—8108 10



26.

27.

28.

29.

30.

26 T 33 T 9T & 19 q1 SA9HeT 38 I @ &1 F79 @ ToT &7 ST (A) 37T gav
&1 FIUT (R) gl 7T &1 3179 37 3IUHerAt &7 &7 @ GAeIoT il 31T ag Huier #fsa
far 3IfireRerT (A) 37T HRUT (R) 3797-3797 @lT 9T @el & UG &RoT (R) 3fUHLT (A) FT
Wel W10 &1 93T IS & AT 9T Wl 0T &7 997 HifAu |

(A) (A) T (R) T W& ¥ IR (R), (A) T T TSR |
(B) (A) e (R) THI W&l €, TR (R), (A) 1 Tl TSI Tl |
(C) (A) §& T, T (R) TTewd |

(D) (A) Ted &, W (R) &l €

TR (A) :

hRUT (R) :

AMHRST (A) :

HRUT (R) :

TR (A) :

HRUT (R) :

AMHRST (A) :

RUT (R) :

TR (A) :

HEUT (R) :

J—8108

ey 9 Afge | U, 3TE. 9. /TS & Hovl Tl |HTeHl diger 9 g8 H ool
T 37U AT @l B

HHNT o I S 1 A ok SAIE 9N 1 &5 AT 2l 8

TTHIEA T T 1 I 3Tt TR T |
I3 Hifeld <Tell bl T8l T Hehd SHiTeh Seh! UTe YOIl ki 3TifTeh faenmd
ZINEM S

T HaR-HIEH I Sl Toh UgaH ol THTaeel §1eH 1

I Teh Y&ig HON H1eaq § |

Tl Ueh gooh! Ue & Hifad St § St S9-foerr afed 2t 2|

JfcReor ot Tufafd § &8 Rrg-wee oy i afeansti & o e H
@@ R

A % % W H Saee 9 e A HIEE T

T[EAA 9 A STl UM 9 ®9 9 W@gd SAfyes drar § SR S 36
freheam & ° yoger o W g f = s
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31. Assertion (A) :

Reason (R) :

32. Assertion (A) :

Reason (R) :

33. Assertion (A) :
Reason (R) :

The personal, social, economic cost of excessive use of alcohol runs
high.

The social cost of alcoholism include the expense of maintaining a
large number of community facilities, such as police, courts, prisons,
welfare agencies and Hospitals.

National programme for the control of Blindness at central level is
controlled by Opthalmological section of DGMS in the ministry of
Health.

At the district level the same programme is controlled by District Health
Officer (DHO).

Dumping is a sanitary method of disposal of solid waste.

It is dumped in low lying areas partly as a method of reclamation of
land but mainly as an easy method of disposal of dry refuse.

34. Identify the correct chronological sequence as they are affected by HIV/AIDS :

(A) Bridge population, High risk group, Antenatal women, General population

B) High risk group, Bridge population, Antenatal women, General population
Antenatal women, General population, Bridge population, High risk group

General population, Antenatal women, Bridge population, High risk group

35. Arrange in a chronological order the following programmes for women and child
health, as they came into being :

(A) ICDS, CSSM, RCH, NRHM

B) CSSM, ICDS, NRHM, RCH
RCH, NRHM, CSSM,, ICDS
NRHM, RCH, CSSM, ICDS

36. Arrange in descending order the leading causes of death in developed countries :

(A) HIV infection, Heart Disease, Cancer, Cerebro Vascular Disease

(
(©
(D)

J—8108

B) Cancer, Heart Disease, HIV infection, Cerebro Vascular Disease
Heart Disease, Cancer, Cerebro Vascular Disease, HIV infection

Cancer, HIV infection, Cerebro Vascular Disease, Heart Disease

12



31.

32.

33.

34.

35.

36.

afrRe (A) : e wfey am =t froft, wmfse e e @rma aga eife dedt €1

®/EUT (R) : AU &l Frarfsrs anTd § gferd, Feed, Sid, SednT TS STeqare St
gmfes gawmsi & s WA § 2 a1 = afifed 2

MMUHAT (A) :  Held TR W WA o =01 & fau U SRisH &1 shela @
AT o LS. TH.TH. i 431 T sman & o1& €1

&I (R) : ToTeT =R W 56 ik ot 0T foten wameen sifyaidt (Shu=el.) sl
?

ARIFRT (A) : AUV I 3TUfEE F IR 1 AH oI 3 2|

HEUT (R) : 30 71 TR % & | gafay afta fman s & o) 9w stifees sum & e
-SSR & Tk T & G0 @ FS I F9eH & fau fman s 2

T3S A1, /el giferd AR o HIeTshHITER Hal hH 1 =87 hifIg :
(A) g ST, I SFEH T9E, S 4 ATy, WM ST
(B) 3= SifgH Ug, 9g STERl, S Jd Hiead, | Tea!
(C) ST qdl Afgelt, | SAeel, |y SAemel, 3= e 998
(D) HMH e, S ol Agel, Y HAee, 3= S T

TreAfafea afean td aa W@ FrEwE % TR 8 § Hiershaar fafe
A) TR HLELTY., 9T TE ., AR H.TE., TSR TE.TH.
B) WI.UH.UH.UH., E.91.S1.UH., UH.3TR UL UH., IR0,
C) SRH.TH., TA.3RTA.TH, .0H.TH.TH,, 37691 21.uE.
D) TA.IR.TH.TH., R H.TH,, .08, 08,1, 376 .91 21.ue.

~—

(
(
(
(

forenfaa <ot H Jg o Y& HRON Sl Al oA § fafan

A) TAIES, ko, g A, HeR, Uish &1 ATl 1 He
B) %R, A U, WH.STE. o, Hehwul, TRk i emfTal sl el
C) TF I, heER, Ufkdsh &t |l 1 e, TH3ME. . Hhao

(
(
(
(D) ¥R, TH.3TE. 3. HehAUI, Hish i &=l 1 e, 75 AT
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37. Arrange in chronological order the famous founders of Indian medicine :
(A) Dhanvantary, Athreya, Charak, Susrutha
(B) Athreya, Dhanvantary, Charak, Susrutha
(C) Susrutha, Charak, Athreya, Dhanvantary

(D) Charak, Athreya, Susrutha, Dhanvantary

38. Arrange in ascending order the countries according to their population :
(A) Indonesia, Russia, USA, India
(B) USA, Russia, Indonesia, India
(C) Indonesia, USA, India, Russia

(D) Russia, Indonesia, USA, India

39. Arrange in descending order the fibre content of the following fruit :
(A) Apple, Grape green, Guava, Dates
(B) Grape green, Guava, Dates, Apple
(C) Guava, Grape green, Dates, Apple

(D) Grape green, Dates, Guava, Apple

40. Arrange in the descending order the animal food according to their protein content :
(A) Sheep liver, Pork, Hen's egg, Goat meat
(B) Goat meat, Sheep liver, Pork, Hen’s egg
(C) Pork, Hen’s egg, Goat meat, Sheep liver

(D) Hen’'s egg, Goat meat, Pork, Sheep liver

J—8108 14



37.

38.

39.

40.

IR Sfufy % wed fafareti 1 Sershaar % e

(A) SR, $TE, =W, G0
(B) 3P, HFEqR, =, Yq
(C) 9gd, ITH, 304, gTad
(D) =T, 339, YA, TGN

TN o ST SAEET o AT TN e 9 fafaw

(A) TUSHRE, 9, JUET, 9
(B) I.UH.W., FH, SUSHIME], WRd
(C) USRI, 9.TH.T, WRd, &9
(D) &9, SUSHRMEN, Y TE.T,, YR

frAfafEd well & ag a o SATIR 3Tl e § fafau

(A) &, AR, 6, T
(B) T S, G, TR, H
(C) s, B SR, T, 6
(D) T [, T, TS, T

Y] @TE I SHH WIS e Shi AT & STHR T 3Telel Y i

(A) 9IS T oIS, YR T T, i1 H VST, THh H T

(B) SRl I Wi, U HI hoiell, G3R 1 Hid, Tl I 70

(C) 3R 1 |G, Tl I VST, Tk H A, I T FHors

(D) I 1 STULT, SR T HIF, IR H1 A, I 1 FHers

J—8108
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Question 41 to 45 are matching item. This consists of two lists of statements, terms
or symbols and the candidate has to match an item in one list with an item in the
other.

41.

List I

Nutritional Factor
Smoked Fish

Beef

Alcohol

Dietary fat

Code :

42.

(@ B (© @

List I

Biological Agents
Hepatitis B Virus
Cytomegalo Virus
Epstein-Barr Virus

Human Papilloma Virus

Code :

(@ ® (o (@

(i) @(v) (@) (i)
() @G (v) (i)
O @ @) (@G)
(v) @ @) (i)

16

List 11
Cancer
Stomach
Bowel
Liver

Intestine

List 11

Type of Cancer
Kaposi Sarcoma
Burkit’s Lymphoma
Cancer Cervix

Hepatocellular Carcinoma



T9T GET 41 @ 45 Tk T G- GAlTT @+ qTeil 7el @ &1 360 qaFaeq @i g gierar
Ug 377aT Teileh & aeT 378l @t Ueh Gl ot °g &l gadl Gait &1 a¢ @ GArerd & gl

41. geir-1
3R T
Y wsel
Eikg

qfgq

TER =sl

/‘\/(3\/\/‘\
%L&vge;

=z >

~ o~ o~ o~
@)
~

42. geir-1

17

geE-11
Hav

e

5L

B oTidet

geE-11

Tk GhTT T a7
FHOTEHT TR
sfehe o1 fommm
hER wfore
BURIHEEI SHIHTAMHT
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List 1 List 11

Type of Epidemic Example

(a) “Point Source” epidemic (i) Lung cancer

(b) Common source propagated (i) Cholera
epidemic

(c) Common source - continuous (iii) Bhopal gas tragedy
epidemic

(d) Slow epidemic (iv) Hepatitis A

Code

(D) Gv) (D) @) ()

List I List II

Institution Population Covered
(a) Subcentre (i) 1000
(b) Primary Health Centre (PHC) (i) 100,000

(c) Community Health Centre (CHC) (iii) 30,000

(d) Angan wadi (iv) 5,000
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(i)
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(b)
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N et
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(i)
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(i)
(@)

(i)
(iv)

(©

(i)

(D)
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List 1 List 11
Voluntary organisations / Functions
International Agency
(a) Indian Red Cross Society (i) Prevention and Control at specific
diseases
(b) World Health Organization (ii) To increase the efficiency of farming,
forestry and fisheries
(c) UNICEF (iii) First aid and blood bank services
(d) FAO (iv) Aid for production of vaccines and sera.
Code :
(@ (b)) () (@
A) () 0 () G
® () ) (v 0
© O ) @) @)
D) (v) @) @) @

Though regarding malnutrition India is believed to be behind Sub Saharan Africa,
considering the big population of India, life style related disorders like Coronary Artery
Disease, Diabetes Mellitus are increasing and getting epidemic form. Along with
metropolitan cities now the diseases are taking grip in towns and villages also. If we
rely on National Health survey part III figures then 13% people are obese as compared
to normal population.

A senior cardiologist in Delhi has said “due to increased income and changed life
style, people living in small towns and rural areas are having increased illnesses due to
atherosclerosis heart diseases. Diabetes etc.” lest these diseases taken an epidemic form.
Doctors have advised immediate preventive measures. India is one of the most populous
countries of the world and its adult population are at risk of getting familial Diabetes.

In western countries the commonest cause of death is cardiac disorders. According
to officials of Ministry of Health in India 10.2 Lakhs people died with Heart diseases in
1990, while this figure is likely to touch 20 lakhs in the year 2010.

It is observed that people are increasingly becoming obese in villages and small
towns. It is due to some fault in our daily diet. It is also considered that due to rapid
urbanisation of the rural areas it is one of the major cause of these diseases. In a survey
in the state of Punjab, it was found that 60% people are more obese than normal and
75% of the people are suffering from High Blood pressure out of a sample of 450 patients.
Its a common practice now that farmers going to fields on foot are now using motor
cycles or tractors. Due to increased income there is a change in lifestyle but there diet
pattern has not changed. Even today people are eating the way as they used to eat
earlier. Way for all these problems is exercise.

The problem of malnutrition is more serious in :
(A) Germany (B) United Kingdom (UK)
(C) Sub Saharan Region of Africa (D) India
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ger-1 geE-11
&

3 SRS YN N S
(a) YR ¥ hE FERE () Tfe=a W = Jerem SR fEw
(b) Tores TaTERy HiSA (i) MY, 99 Td A UIeH i gfg & fog
€ IFME® (TR TR) (iii)y wrefHe fafean oik & s S
(d) THTS. (iv) ORI T WA o T ste
HIE :
(@ B (© @
(A) @) @) @v) (i)
(B) ) (@) (@) (D)
© @ @) @) Qv
(D) (v) () @) (D)

2T FATT &% A § TR 1 Fol FERT STHIhT § e TH A1 S, <9 i IS et
I STe el i aeiE § B arelt fomifE sS4 faed i i, vyAE onfe 9g Wi &R faftre
AT B W E | HRFTRI o |1 T A A oFel Sha 3R el W oft 1o frehen | W ¥ afe
B Y Toreed FelaTul A 111 o STichel W foward i @ YRd & |mr Al &t o |
13 WfeeTd TR Hier & W ¥ |

feeeht & T aftss gea I fodiva 3 =arn © o o # gfg R Sfed el # agema &
HROT UTHTOT SeATehl ST hsil & @ i | =il s 9 2ed o il 9 afues ufga &1 ® § 1
3 FHIRAT SATIET T T URUT 7 el 36k T SERI A 37 W 1 qehldd Ushe™ & fora ared
3T %1 &hel ¢ | ¥R fava & Fod 9 A& arel <0 o 9 81 I8l 98 9@ H g9 &l
STHIYTeR HEHE o T & |

iyt <90 | g 1 WE RO gS AT § 1 R § W HAe & At &
3R I=i foat ot Sl § 7 arcll st W&l 10.2 A ot Selfeh I8 STishel §9 2010 § 5
Y 20 ARG B ST |

g TG | TN | o Tal SR il & N Ugel i Gl | TRl SAfE M AW T | T
el 7 el THR STER H 311 e o R &1 T&1 ¢ | TTH0T &1 o it ¥ B Weehion ol off 39
T T HEA HROT FHEH ST € | Uolel T5d H TU Ueh FA&I0l & STER 60 FTawrd it |qH= &
ST H1e ¥ S1R 75 ufaerd @ 3= tad =9 9§ difed €| F% fshy 450 AT % Suer W enenia
B forEm St o7qe Sl Yeet ST a9 31 o 3Heh fou S e Hie Higshel sl TR
FE TR At gig T S Seft H qfteniy § TR SRR Sieft § SiE agamd T&l T T |
3T off &I Teel i R & Wi &1 37 [t Taensii 1 ThHT THINH Ay T

FAIor Y T foRg <9 § siferehan TR €72
(A) A (B) e fohred (Fh.)
(C) STWIchT hl ToHRRT &5 (D) 9Rd

J—8108 21 P.T.O.



47. The cause of increase in diseases like Diabetes and Heart diseases are the following

except :
(A) Increased life expectancy (B) Changed life style
(C) Atherosclerosis (D) Less income

48. The commonest cause of death in USA is :
(A) Cancer (B) CAD (Coronary Artery Disease)
(C) Diabetes (D) Mental disorders

49. Find the correct statement from the following :
(A) Hormonal imbalance causes proneness for cardiac disorders
(B) Cardiac diseases have increased due to infections
(C) Increased smoking leads to obesity
(

D) The problem of obesity is more due to lack of exercise

50. Extensive use of tractors for ploughing of fields is responsible for :

(A) Diabetes (B) Cancer
(C) Liver Cirrhosis (D) Cholecystitis
-00o0-
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47.

48.

49.

50.

frefafed 8 9 o9 o1 SR geHe iR 7 AT S AT 1 FRE Tl © 2
(A) g ¥ agE (B) uRafdd i it
(C) UferrRrifEE (D) == ™

JTET, | G H & HRU T

(A) HEW (B) WTE (7&F M)
(C) ¥YHT (D) wHfE® I
frfafad 5 9 98 U9 &1 99 S :

(A) T STEge T&d T 1 BRI T 2 |

(B) THY ¥ 7T WM H If5 & T

(C)  UI i gfg & HierdT A7 2|

(D) TIeTd i THE 1 HR I8 § o o0 =mem 71w 2

Tl | 51 90 & folu o 1 A9 S&HTe fohd I o fo STRerl 72

(A) YA (B) ¥
(C) foer fitaw (D) wiifagerEfeq
-00o0-
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